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NACT 271 – Stationary Reciprocating Engines
Pre-test
1. As an engine becomes leaner there is :
A.  Higher power.
B.  Lower power.
C.  No effect on power.


D.  More weight.
2. At stoichiometric conditions there:
A. Are more O2 molecules available than fuel molecules. 

B. Are more fuel molecules available than O2 molecules.
C. Are different fuels being burned at the same time.
D.  Is just the right number of fuel molecules for the O2 molecules. 
3. NOx emissions are related to:
A.  Fuel type.


B.  Amount of fuel burned.
C.  Temperature of the combustion chamber.
D.  All the above.
4. An Otto cycle engine uses ____________ as the source of ignition.

A. Spark plugs

B. Glow plugs

C. Tire plugs


D. Commercial plugs
5.    Diesel engines must use only diesel fuel.
A. True
B. False

6.  Two cycle engines always use spark plugs as the source of ignition.
A. True
B. False

7.    With equal horsepower a  four-stroke engine is:
A. Lighter than a two-stroke engine.

B. The same weight as a two-stroke engine.

C. Heavier that two-stroke engine.

D. None of the above.

8. The horsepower of an individual engine varies according to:
A. The work it is being required to do.
B. The permit requirements.
C. The revolutions per minute of the engine crankshaft.
D. The torque.


E.   All except B
9.   The most accurate fuel delivery system is:
A. Carburetor
B. Gaseous fuel regulator
C. Fuel injection

D. None of the above
10.   The exhaust gas recirculation (EGR) system reduces contaminants by:

A. Reburning the NOx.

B. Capturing and destroying the NOx.

C. Introducing low O2 air into the combustion chamber intake.

D. Helping an engine to run in a rich atmosphere.

11.   SCR and NSCR can be installed on a landfill gas IC unit.

A. True
B. False

12.   Rich-burn engines will be higher in _______ emissions than lean-burn engines.

A. NOx
B. CO
C. HC
D. Both CO and HC
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